
z − i
D F

=
√

2∫
dz/2πi

1

z2− 2z + 3
=

1

2i
√

2

z2 − 2z + 3 =
(
z − a+

) (
z − a−

)
�

a+Res
1

z2− 2z + 3

zDF = r∫
dz/2πi

z\(
z − a1

)
·· (z − an)

=
∑

1 6 i 6 n

aiRes =
aiEv

z\∏
j 6= i

(
z − a

j

)X Z

=
∑

1 6 i 6 n

ai\∏
j 6= i

(
a

i
− a

j

)
zDF = 4∫

dz/2πi

z\
(z − 1) (z − 2i) (z + 3)

z − 1
D F

= r∫
dz/2πi

z2

(z + 1) (z − 1)
2

=


−1

Res =
−1

Ev
z2

(z − 1)
2 =

1

4

1
Res =

1
Der

z2

(z + 1)
=

3

4

= 1

zDF = 1∫
dz/2πi

πz
t

z = eit



{
R (x:y) rational

no poles on x2 + y2 = 1
�

0
π
|∫

dt/2π

R
(

tc:ts
)

=
∑
zDF < 1

Res
1

z
R

(
z + z−1

2
:
z − z−1

2i

)

z = eit
�


dz = izdt

tc =
z + z−1

2
ts =

z − z−1

2i

� LHS =
1

2πi

zDF = 1∫
dz

z
R

(
z + z−1

2
:
z − z−1

2i

)
= RHS

0
π
|∫

dt/2π


1

a + ts
=

 Res
2i

z2 + 2iaz − 1
Ev

Der
=

2i

2z + 2ia
i
√

a2− 1− ia
=

1√
a2− 1

1

2− ts
=

1√
3

0|π∫
dt/π

ev=

0
π
|∫

dt/2π



1

a + tc
=

 Res
2

z2 + 2az + 1
Ev

Der
=

2

2z + 2a
±

(√
a2− 1− a

) a > 1=
1√

a2− 1

1

3 + 2tc
=

1√
5

1

2 + tc
1

5− 3tc

0|π/2∫
2dt/π

=

0|π∫
dt/π

=

0
π
|∫

dt/2π



1

a + ts2

a

a2 + ts2 =
2a

1 + 2a2− tc
=

1√
1 + a2

1

1 + ts2 =
1√
2

1

2 + tc2 =
1√
6

0
π
|∫

dt/2π

ts

a + ts

0
π
|∫

dt/2π

2tc

5− 4tc

2tc =

tc2− ts2
= Res

z4 + 1

−4z2 (z − 1/2) (z − 2)
= −1

4


0
Der

z4 + 1

(z − 1/2) (z − 2)
=

5

2
1/2

Ev
z4 + 1

(z − 2) z2
= −17

6

=
1

12



0
π
|∫

dt/2π

e
tc ntc− ts
Y [

0
π
|∫

dt/2π

1

1 + a2− 2atc
=


1

1− a2
0 < a < 1

1

a2− 1
1 < a

0
π
|∫

dt/2π



1

(a + ts)
2 = Res


−4z

(z2 + 2iaz − 1)
2 =

−4z(
z − a+

)2(
z − a−

)2

=
a+Der

−4z(
z − a−

)2 =
a

(a2− 1)
3/2

1

(b + atc)
2 =

b(
b
2− a2

)3/2

1

(2− ts)
2

1

(1 + atc)
2

0|π/2∫
2dt/π

1(
a + ts2

)2
=

2a + 1

2
(
a2 + a

)3/2

aDF < 1:

0|π∫
dt/π

ev=

0
π
|∫

dt/2π


2tc

1− 2atc + a2
ntc

1− 2atc + a2
= Res

zn

(z − a) (z − 1/a)

0
π
|∫

dt/2π

ts2k =
(2k)!

4
k
(k!)

2


